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Learning Target: | will evaluate linear and non-linear functions.

Goal: 4 out of 5 correct
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DELTA Quick Check — Form A

MATH
Readiness Standard 3 — F.IF.2

Name Date

Learning Target: | will evaluate linear and non-linear functions.

Directions: Circle the answer(s) to each question. (Work time: 4 minutes)

Use the graph to find each value of f(x). f&X)
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3. f(1) = %
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4. For the function g(xX) =x+5, 5. For the function h(x) =x?-6,
find the value of g(-3). find the value of h(-4).

Answer: Answer:




DELTA Quick Check — Form B

MATH
Readiness Standard 3 — F.IF.2

Name Date

Learning Target: | will evaluate linear and non-linear functions.

Directions: Circle the answer(s) to each question. (Work time: 4 minutes)

Use the graph to find each value of f(X).

—h
>
X
) —

i) A
1. f(0) = i
4\
1\
[] )\
(] 1
2. f(2) = [
< / R
S e
2
\[/l [,
3. f(-4) = v
E2E
4. For the function g(x) =x—6, 5. For the function h(x) =x?+7,
find the value of g(4). find the value of h(-5).

Answer: Answer:




DELTA Quick Check — Form C

MATH
Readiness Standard 3 — F.IF.2

Name Date

Learning Target: | will evaluate linear and non-linear functions.

Directions: Circle the answer(s) to each question. (Work time: 4 minutes)

Use the graph to find each value of f(x). f(X)
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4. For the function g(x) =x+7, 5. For the function h(x) =x?-8,
find the value of g(-2). find the value of h(-6).

Answer: Answer:




DELTA Quick Check — Form D

MATH
Readiness Standard 3 — F.IF.2

Name Date

Learning Target: | will evaluate linear and non-linear functions.

Directions: Circle the answer(s) to each question. (Work time: 4 minutes)

Use the graph to find each value of f(X). ‘ f(x)
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4. For the function g(x) =x-8, 5. For the function h(x) =x?+9,
find the value of g(b). find the value of h(-7).

Answer: Answer:






